



WORLD TRADE CENTER®
DENVER

CERTIFICATE OF ORIGIN

ORIGINAL



TO VALIDATE, GO TO
VERIFY.FTGS.US

Certificate Number : **DWTC-COO-70959-6984b0d5ac594**
Date : **February 05, 2026**

Seller (Exporter) STOLLE MACHINERY Company, LLC 6949 South Potomac Street Centennial CO 80112 USA	Transport Type Air	Port of Loading Denver
	Destination Country Kazakhstan	Destination Port SHYMKET CITY
	Export Date *****	Exporting Carrier *****
Consignee STOLLE MACHINERY (SHANGHAI) COMPANY LIMITED UNIT 101 1ST FLOOR NO 318 FASAI RD SHANGHAI WAIGAOOIAO FREE TRADE P.R. SHANGHAI 200131 China	Import Permit Number *****	Bill of Lading / AWB *****
	Owner or Agent *****	Forwarding Agent *****
	Buyer (Importer) QAZALPACK LLP KAPAL BATYR STREET, INDUSTRIAL ZONE "ONTUSTYK" BUILDING 130 160019 - SHYMKENT CITY Kazakhstan	
Remarks Z108674 // 99806694 Invoice: 2026010085 28-Jan-26 Consignor reference: C298496		

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
700597 - BEARING, DODGE PILOTEDFCE200R 023130 H.S.Code: 8483.20 Marks: qty: 2 =====end of products=====	9.6616166 KG =====	United States =====

Name of Authorized Trade Association



Authorized Signature *Sandi Moilanen*



The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:

- The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.
- The information in this certificate and in any documents provided to the World Trade Center Denver ("WTCD") is accurate, true and complete.
- The Applicant undertakes to advise WTCD and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- In consideration for the WTCD's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless WTCD from any liability in connection with the issuance of this certificate and to indemnify WTCD in respect of any costs and/or claims made against LAACC in connection herewith.
- The Applicant is authorized to give the undertakings set out herein.



Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

Commercial Invoice
For Customs Clearance

Invoice Number: 510299
Date: 12/11/2025

Bill To 186
 STOLLE MACHINERY (SHANGHAI) COMPANY LIMITED
 UNIT 101 1ST FLOOR NO 318 FASAI RD
 SHANGHAI WAIGAOQIAO FREE TRADE
 P.R.
 SHANGHAI, CHINA 200131

Consignee 186
 STOLLE MACHINERY (SHANGHAI) COMPANY LIMITED
 UNIT 101 1ST FLOOR NO 318 FASAI RD
 SHANGHAI WAIGAOQIAO FREE TRADE
 P.R.
 SHANGHAI, CHINA 200131

SHIPPING METHOD ADP Global Logistics, Inc.
NUMBER PCS / WEIGHT 1.00 / 625.05 kg
B/L 1 crate 67x48x39

INCOTERMS Exwk Centennial CO Incoterms 2010
TERMS 90 Days Net
PRO NO 1378 lb
ITN

Order No. Line No. Rel No.	PO Number Part Number Part Number Description	HS Classification Country of Origin	Qty. Delivered Unit of Measure Notes	Unit Value USD	Total Value USD	Net Weight Each	Net Weight Total
C299381 5 1	Z108697 122002219 SEAL, FLAT, 12 PKT, 200 DIA	3926904500 UNITED STATES	25.00 EA	5.72	143.01	0.023	0.57 kg
Total HS Code - DOMESTIC		3926904500	25.00		143.01		0.57 kg
Total HS Code - FOREIGN		3926904500					
Total HS Code - TOTAL		3926904500	25.00		143.01		0.57 kg
C298374 9 1	Z108669 222152834 BELT, BRAKE, MANDREL LL-14P	3926905800 UNITED STATES	5.00 EA	130.71	653.56	0.141	0.70 kg
Total HS Code - DOMESTIC		3926905800	5.00		653.56		0.70 kg
Total HS Code - FOREIGN		3926905800					
Total HS Code - TOTAL		3926905800	5.00		653.56		0.70 kg
C298803 19 1	Z108683 701233 BELT, EXTREMULTUS GG14-3 .118 x 1.0 x 74.25	4010190100 UNITED STATES	2.00 EA	56.59	113.18	0.204	0.41 kg
Total HS Code - DOMESTIC		4010190100	2.00		113.18		0.41 kg
Total HS Code - FOREIGN		4010190100					
Total HS Code - TOTAL		4010190100	2.00		113.18		0.41 kg



John L. Meisler



Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

**Commercial Invoice
 For Customs Clearance**

**Invoice Number: 510299
 Date: 12/11/2025**

C297369 4 1	Z108640 222001786 BELT, BROWNING 840L16 POLY-V	4010330000 MEXICO	4.00 EA	107.79	431.16	1.043	4.17 kg
Total HS Code - DOMESTIC		4010330000					
Total HS Code - FOREIGN		4010330000	4.00		431.16		4.17 kg
Total HS Code - TOTAL		4010330000	4.00		431.16		4.17 kg
C297373 5 1	Z108643 700291 BELT, HTD 2310-14M-85	4010390000 CHINA	4.00 EA	376.78	1,507.13	1.962	7.85 kg
Total HS Code - DOMESTIC		4010390000					
Total HS Code - FOREIGN		4010390000	4.00		1,507.13		7.85 kg
Total HS Code - TOTAL		4010390000	4.00		1,507.13		7.85 kg
C298803 7 1	Z108683 307494 TUBE, AIR/VAC HI-FLO ROTARY TRIP	7307290000 UNITED STATES	24.00 EA	8.58	206.04	0.005	0.11 kg
Total HS Code - DOMESTIC		7307290000	24.00		206.04		0.11 kg
Total HS Code - FOREIGN		7307290000					
Total HS Code - TOTAL		7307290000	24.00		206.04		0.11 kg
C298491 9 1	Z108672 222039393 FITTING, WEATHERHEAD 1868 x 6 x 6	7307929000 MEXICO	50.00 EA	10.49	524.58	0.036	1.79 kg
Total HS Code - DOMESTIC		7307929000					
Total HS Code - FOREIGN		7307929000	50.00		524.58		1.79 kg
Total HS Code - TOTAL		7307929000	50.00		524.58		1.79 kg
C297363 7 1	Z108637 086716 SCREW, SOCHDCAP - EATON	7318159000 TAIWAN CHINA	12.00 EA	6.72	80.64	0.169	2.02 kg
C296612 2 1	Z108613 222160215 SCREW, REFORM DIE RETENTION	7318159000 UNITED KINGDOM	30.00 EA	127.01	3,810.24	0.020	0.60 kg
Total HS Code - DOMESTIC		7318159000					
Total HS Code - FOREIGN		7318159000	42.00		3,890.88		2.62 kg
Total HS Code - TOTAL		7318159000	42.00		3,890.88		2.62 kg



John M. Merlan



Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

Commercial Invoice
For Customs Clearance

Invoice Number: 510299
 Date: 12/11/2025

C297363	Z108637	7320905060	12.00	20.98	251.80	0.376	4.52 kg
4	086621	UNITED STATES	EA				
1	SPRING, BRAKE - EATON						
Total HS Code - DOMESTIC		7320905060	12.00		251.80		4.52 kg
Total HS Code - FOREIGN		7320905060					
Total HS Code - TOTAL		7320905060	12.00		251.80		4.52 kg
C298802	Z108682	8443913000	1.00	445.46	445.46	0.141	0.14 kg
6	222054717	UNITED STATES	EA				
1	MANIFOLD, TRANSFER 24MRT, HYCOMP						
C298106	Z108650	8443913000	64.00	82.67	5,291.06	1.202	76.93 kg
6	222161956	UNITED STATES	EA				
1	ROLL, WHITE BLU 7.25 X 2.953D						
C298106	Z108650	8443913000	16.00	113.51	1,816.15	0.082	1.31 kg
1	217112	UNITED STATES	EA				
1	ASSEMBLY, MANUAL KEY, RMO 8"						
C298029	Z108651	8443913000	128.00	66.77	8,546.76	1.770	226.56 kg
4	300430	UNITED STATES	EA				
1	ROLL, WHITE RED 7.25 X 3.625D						
C298029	Z108651	8443913000	64.00	63.60	4,070.17	1.542	98.70 kg
1	222161957	UNITED STATES	EA				
1	ROLL, WHITE BLU 7.25 X 3.438D						
C298019	Z108656	8443913000	2.00	33.39	66.78	0.014	0.03 kg
15	333683	UNITED STATES	EA				
1	WIPER, FOUNTAIN SIDE LONG						
C298018	Z108655	8443913000	2.00	113.51	227.02	0.082	0.16 kg
9	217112	UNITED STATES	EA				
1	ASSEMBLY, MANUAL KEY, RMO 8"						
C298013	Z108652	8443913000	10.00	66.77	667.72	1.564	15.64 kg
1	300435	UNITED STATES	EA				
1	ROLL, WHITE YEL 7.25 X 3.562D						
Total HS Code - DOMESTIC		8443913000	287.00		21,131.12		419.47 kg
Total HS Code - FOREIGN		8443913000					
Total HS Code - TOTAL		8443913000	287.00		21,131.12		419.47 kg



Z108655 846694002 5.00 62.96 314.79 0.045 0.23 kg
 116146 UNITED STATES EA
 SHIM, .062 DIA LINKAGE

Sanli Maitan



Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

**Commercial Invoice
 For Customs Clearance**

**Invoice Number: 510299
 Date: 12/11/2025**

C298015 14 1	Z108654 114873 SHIM, PACK 1.25 ID X .060 THK DIAMOND	8466940002 UNITED STATES	1.00 EA	106.84	106.84	0.067	0.07 kg
C297375 3 1	Z108644 SN706073 STRIPPER, EMERGENCY (2" DIA.)	8466940002 UNITED STATES	1.00 EA	1,164.24	1,164.24	0.522	0.52 kg
Total HS Code - DOMESTIC		8466940002	7.00		1,585.87		0.82 kg
Total HS Code - FOREIGN		8466940002					
Total HS Code - TOTAL		8466940002	7.00		1,585.87		0.82 kg
C298496 32 1	Z108674 739980 FITTING, SWAGELOK B-QC4-S-400K1	8481801095 UNITED STATES	2.00 EA	18.88	37.77	0.068	0.14 kg
C298496 28 1	Z108674 730007 FITTING, SWAGELOK B-QC4-S-400K3	8481801095 UNITED STATES	2.00 EA	18.88	37.77	0.050	0.10 kg
Total HS Code - DOMESTIC		8481801095	4.00		75.53		0.24 kg
Total HS Code - FOREIGN		8481801095					
Total HS Code - TOTAL		8481801095	4.00		75.53		0.24 kg
C294536 2 1	Z108563 090167 BEARING, COVER OVERLOAD CLUTCH	8482105008 UNITED STATES	2.00 EA	484.84	969.68	0.045	0.09 kg
Total HS Code - DOMESTIC		8482105008	2.00		969.68		0.09 kg
Total HS Code - FOREIGN		8482105008					
Total HS Code - TOTAL		8482105008	2.00		969.68		0.09 kg
C297373 6 1	Z108643 700309 BEARING, NEEDLE, 1.000 ID X 1.250 OD X .750 WD	8482400000 UNITED STATES	74.00 EA	25.20	1,864.80	0.030	2.22 kg
Total HS Code - DOMESTIC		8482400000	74.00		1,864.80		2.22 kg
Total HS Code - FOREIGN		8482400000					
Total HS Code - TOTAL		8482400000	74.00		1,864.80		2.22 kg



John M. Nelson



Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

**Commercial Invoice
 For Customs Clearance**

**Invoice Number: 510299
 Date: 12/11/2025**

C298019	Z108656	8483105000	2.00	898.56	1,797.11	4.196	8.39 kg
1	222010465	UNITED STATES	EA				
1	SHAFT, ANKLE DIA LINKAGE						
Total HS Code - DOMESTIC		8483105000	2.00		1,797.11		8.39 kg
Total HS Code - FOREIGN		8483105000					
Total HS Code - TOTAL		8483105000	2.00		1,797.11		8.39 kg
C298496	Z108674	8483200050	4.00	354.24	1,416.95	4.831	19.32 kg
22	700597	UNITED STATES	EA				
1	BEARING, DODGE PILOTEDFCE200R 023130						
Total HS Code - DOMESTIC		8483200050	4.00		1,416.95		19.32 kg
Total HS Code - FOREIGN		8483200050					
Total HS Code - TOTAL		8483200050	4.00		1,416.95		19.32 kg
C299381	Z108697	8483409000	2.00	980.59	1,961.18	1.433	2.87 kg
12	222016091	GERMANY	EA				
1	GEARHEAD, 12:1						
C298802	Z108682	8483409000	1.00	309.06	309.06	1.002	1.00 kg
18	302250	UNITED STATES	EA				
1	SUBASSY, COUPLING INK DRV DISENGAGE						
C297371	Z108642	8483409000	1.00	123.05	123.05	1.134	1.13 kg
5	300076	JAPAN	EA				
1	GEAR, INPUT DR 33T CL11						
Total HS Code - DOMESTIC		8483409000	1.00		309.06		1.00 kg
Total HS Code - FOREIGN		8483409000	3.00		2,084.23		4.00 kg
Total HS Code - TOTAL		8483409000	4.00		2,393.29		5.00 kg
C298800	Z108681	8483608000	1.00	968.19	968.19	2.313	2.31 kg
6	095066	SPAIN	EA				
1	ROTORSEAL - GOIZPER						
C295230	Z108582	8483608000	3.00	968.19	2,904.58	2.313	6.94 kg
6	095066	SPAIN	EA				
1	ROTORSEAL - GOIZPER						
Total HS Code - DOMESTIC		8483608000					
Total HS Code - FOREIGN		8483608000	4.00		3,872.77		9.25 kg
Total HS Code - TOTAL		8483608000	4.00		3,872.77		9.25 kg



[Handwritten Signature]



Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

Commercial Invoice
For Customs Clearance

Invoice Number: 510299
Date: 12/11/2025

C298800	Z108681	8483908010	1.00	688.80	688.80	1.746	1.75 kg
7	095580	UNITED STATES	EA				
1	ROTOR SEAL						
Total HS Code - DOMESTIC		8483908010	1.00		688.80		1.75 kg
Total HS Code - FOREIGN		8483908010					
Total HS Code - TOTAL		8483908010	1.00		688.80		1.75 kg
C298496	Z108674	8483909500	1.00	25.75	25.75	1.592	1.59 kg
23	700574	UNITED STATES	EA				
1	BUSHING, HTD SF-2.00 KEY SIT .500 S						
Total HS Code - DOMESTIC		8483909500	1.00		25.75		1.59 kg
Total HS Code - FOREIGN		8483909500					
Total HS Code - TOTAL		8483909500	1.00		25.75		1.59 kg
C298803	Z108683	8487900080	8.00	370.10	2,960.83	1.315	10.52 kg
1	302463	UNITED STATES	EA				
2	ASSEMBLY, ROTARY UNION						
	157-000-022						
C298803	Z108683	8487900080	2.00	370.10	740.21	1.315	2.63 kg
1	302463	UNITED STATES	EA				
1	ASSEMBLY, ROTARY UNION						
	157-000-022						
C298496	Z108674	8487900080	5.00	370.10	1,850.52	1.315	6.58 kg
16	302463	UNITED STATES	EA				
1	ASSEMBLY, ROTARY UNION						
	157-000-022						
C298013	Z108652	8487900080	8.00	370.10	2,960.83	1.315	10.52 kg
3	302463	UNITED STATES	EA				
1	ASSEMBLY, ROTARY UNION						
	157-000-022						
Total HS Code - DOMESTIC		8487900080	23.00		8,512.39		30.25 kg
Total HS Code - FOREIGN		8487900080					
Total HS Code - TOTAL		8487900080	23.00		8,512.39		30.25 kg
C299381	Z108697	8544420000	2.00	40.40	80.81	0.522	1.04 kg
	222035798	ITALY	EA				
	CABLE POWER 5 PIN 10 METER						
Total HS Code - DOMESTIC		8544420000					



Paul Milon
 8544420000
 ITALY
 CABLE POWER 5 PIN 10 METER
 8544420000



Stolle Machinery Company LLC
 6949 S. Potomac Street
 Centennial CO 80112 USA
 Phone: 303-708-9044

**Commercial Invoice
 For Customs Clearance**

**Invoice Number: 510299
 Date: 12/11/2025**

Total HS Code - FOREIGN		8544420000	2.00		80.81		1.04 kg
Total HS Code - TOTAL		8544420000	2.00		80.81		1.04 kg
C299381	Z108697	9027908950	12.00	117.33	1,407.97	0.070	0.84 kg
3	122000911	UNITED STATES	EA				
1	SPINDLE FACE						
Total HS Code - DOMESTIC		9027908950	12.00		1,407.97		0.84 kg
Total HS Code - FOREIGN		9027908950					
Total HS Code - TOTAL		9027908950	12.00		1,407.97		0.84 kg
C298019	Z108656	9603500000	1.00	447.37	447.37	1.400	1.40 kg
46	113139	UNITED STATES	EA				
1	ASSY, CAN HOLD DOWN BRUSH						
Total HS Code - DOMESTIC		9603500000	1.00		447.37		1.40 kg
Total HS Code - FOREIGN		9603500000					
Total HS Code - TOTAL		9603500000	1.00		447.37		1.40 kg
Grand Total:					53,991.55		524.42 kg

Package Type	Length	Width	Height	Dims UoM	Net Weight	Gross Weight	Weight UoM
CRATE	48.00	67.00	39.00	in	0.00	625.05	kg
Total					0.00	625.05	kg



Signature

These commodities, technology or software were exported from the United States in accordance with the Export Administration Regulations. Diversion contrary to U.S. law is prohibited.
 ***PRODUCT IS SOLD IN USD AND PAID IN US CURRENCY*

ACCEPTANCE. This order is subject to acceptance by Stolle Machinery Company, LC ("Seller"). Acceptance is conditional upon all terms and conditions stated on the face and reverse sides of this document. The Purchaser's assent to these terms and conditions shall be conclusively presumed: (a) if the Purchaser retains this Acknowledgment without objection for ten (10) days after receipt, or (b) if the Purchaser accepts all or any part of the goods.

The Seller expressly rejects any terms or conditions proposed by the Purchaser that differ from or add to those stated herein. Once accepted, this order may only be modified in writing, signed by the Seller.



Janis Meilum